TP00°LT1 $6S 80I1C'IE €LY 6£€ P'E6b°S6 L'SEY 95T [€103 swiung
€860, 891 Serel p6L1 1 8€69°S 88 LS a1frgosadsiqray
11a31uapal -un g
0 LT L1 0 6'v 01 0 8/ L "}aqun /sU0S
1°2¢ €6 81 1°2¢€ £'6 ¥l 0 100 4 AN IEQISUANCT
o L0 I 0 L0 1 - - - yoaineg
0 0 1 0 0 I - - - wnuadrg-m LS -
0 ‘sl S 70 4l 14 0 LT 1 wmuadLp -
$0€C €vs L€ 2i[¥4 91¢ 19 0 L7 4 wnuadoun|y -
uoa Sunyuayog
0°/8S (14 £% 0'48S &34 A4 0 91 4 Sunjiay,
¥'€81'9 6'91 86 9'68% 0'4s 61 8'¢69'S 0°0L 6¢ yosne],
‘agpagadiuapal
.3né ~un
6°6966'11 2189 L2F £991°0¢ 6267 [144 $'66£'68 8'8r¢ 661 afrqrsadsiqray
) Laqnadiua
1°¢86°81 811 L1 - - - 1°¢85'81 811 Ll ‘}2qun ;1sU0G
+0 0 S - - - +0 0 S N Iequsudl(q
L'6£9 g6l €1 L0 S0 I 0‘6£9 6'b1 4} yoaaneg
¥'507 8l ¥ - - - ¥'50T 8l ¥ (191} Za1s2g
0°066'% 8‘s L - - - 0066t 8‘s L Sunsadaisiap
£'645£°6T Ao LL L'8LL6 1eS ¥ 1109'61 109 9¢ wnuadrg-m IS -
6°¢S1Y 14 8z 9°/98'C TLE 174 $987°1 011 4 wnua3LIA —
9'€10'79 S9b¥ 9.2 Y6161 1607 291 T'verv Y'ere 121! wmuadiaurs|y -
! uoa wznvm
raqoynaSius
(39puniad) | (30puniad) yez (19punia8) | (39punsad) Iyez (3opuniad) | (3apuniad) yez
1,45 0001 W 0001 -sypas LIS 0001 | A 0001 ~syonms 3450001 | AW 0001 -syoms dfs
C_ 0:0? =_ op—um_nm %:.:r_o E 0:0? E u—.—um_nm .ﬁ::.-@ E 3.—0? cm vsum_nm %EEMV .wuwmr_Uwuwmu:uum
21219598win 21719593win 21Z19593wn
OEE:m :Bﬁ:wEu\/ Jaun :uu_u:ukr_u.»ur_o_z aun

ualyeyds3dsayaay yseu Jassnjyrsadyne
‘1661 d1Ye[ W UISUIYIINT SWNIUISING SIP IYIBWUIPOG WE IZIBSW() UIIEIIUOW pun uaSISSEWUdYdE(} A

279




